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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question,

Find the radius of convergence of the power series.
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v (x-2)2n
3 .
n=0 :
A)1<x<3 B) x <4
4y x-8n
n=0 : SN
A)7=x<9 B)7 <x<9 Cyx<9

+ive the problem.
5) Find the coefficient of x3 in the Maclaurin series generated by f(x) = e=3X,
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Approximate the giveh function by using the third order Taylor polynomial.
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Find the Taylor polynomial of third order for the function at x = 0.
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Find the first four nonzero terms of the Maclaurin expansion of the given function.
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Answer Key
Testname: POWER SERIES REVIEW

1)B
2) D
3)C
4)B
5 D
6) B
7) A
8) D
9) A
10)C
11)B




@ A k&"‘%}wg _ Q/uw (x=4) A
0 | Q)" V\%‘D\ ot o [Xm!“” A’QU yud o
) e Q2P et | ) | 0
res ﬁém)ﬁ K20 T v [T g i SRR A
':’\"rl“ VIH‘q o ,
0o ﬁrnw) : }, M eie! s
-] 4 g1
= lim

OO

B \w \ foz)?“f*“*‘f [T

T @m}) 2n

= \\Yﬁ
WX

mo a2 (T
qﬂ -

y b @;%jn @) g



w70 (770 = €U

oy @017

® o ¥ pX= \+mw %

-5
QX

(D sin(onms) oder 2

X—%2 _ 0.as) - (0.445)2

2\

wi \éﬂ.j&%ﬁf €
] AT %]
s |
-1\ | +1—1 + Ywgl

L

’tié

| + (-3X) t (X)) "¢ (@5)
T 2

| - 2X +‘9i)i*’“ 2qx”
I




Rn (x) — ’F Y\'tl(%) (X__C)T\-H N= 2
) |
R2lx) = {3(@) (X-—f))

Kol = @ ><3
\

€)= 2ol M}U‘)L
= 210 o) (z)i )

= Q003 wq \/]
’L
?)Wi? X0~
© mn(r19) =
en(14x) = A ,2<2+%
Wli#622) = (122) = (-22)% 4 €220 wvws |
%

@ h | dggs@%xmf plug b LQ( Q)Va

+4 O »

I VR Bty h

O Ty eyt ,

—

% xAO* L \ >
2 2 ’;;,, 2

g I AN VL |
=
W ox L x2 X



(O wx= 1 X 2 o x§ +xY
! q; Lﬂ‘

Ccos LX‘:)“B s \~- Q(‘i)»lﬂx })‘.‘ a?) e
2! 5“‘"5 é;g

& X .g,,.vx =X b1
2t g e

®

¢r= ‘*Y%E%f% }éf *i"ﬁqr
7t 3. MY

= |+ (e t ) @ ) ﬁm‘? o)

l+%‘£+%x +@3Xg a4
4

9" x"

B e

nt



